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Congruent vs Similar Triangles Review Name: / 7/ 1 8

Guided Notes

e What type of transformations produce congruent triangles? .
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e Does the.order of a congruence statement matter?
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e ' What are the:theorems that prove triangles congruent?
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1. Using the picture determine which of the statements balow is correct?
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e What type of transformations produce similar triangles? "
& la:f—'-" ~S ﬂ Y
e Does the order of a similarity statement matter? [y '
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e What are the theorems that prove triangles similar? %
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Determir:e which two of the three given triangles are slmllar Find X Y X 3
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ANGLE BISECTOR THEOREM TRIANGLE PROPORTIONALITY THEOREM

If a ray bisects an angle of a triangle, then it divides the
opposite side into segments that are proportional to the
other two sides.

If a line parallel to one side of a triangle intersects the
_other two sides of the triangle, then the line divides these
two sides proportionally.
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Direclions: Solve each problem. Record the answer to each problemin
the ccrresponding row of the puzzle.

a) f ADEF ~ AVRT, find DE.

b) If APAK ~ AWNK, find PK.
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¢) If aSFC ~ AAFY: solve for x. d) If ABNV ~ AHZG, solve for x.
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e) If w.SFC ~ AKLM, find FE.
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s the quotient of the number created along the
lumn and 64.
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